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“Cost Accounting is a tool of managerial planning and

control.”™ Explain.

Define the terms Fixed Cost, Variable Cost and Sem.-

Variable Cost giving one example of each one.
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Perpetual Inventory system means continuous stock taking

system. Do you agree ?
Explain nature of Period Costs and Time Costs.

Enumerate various causes to be considered in fixing the

Re-order level of a raw materizl iten,
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(a)  Differentiate between Costing, Cost Accounting and Cost

Accountancy.

()  Calculate the minimum stock level, maximum stock level,
re-ordering level and average stock level from the following

information

Minimum consumption 200 units a day
Maximum consumption 300 units a day
Normal consumption 240 units a day
Re-order period 10-15 days
Re-order quantity 3000 units
Normal re-order period 12 days.

P.T.O.
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Define overtime. What are its causes 7

X Ltd. has five departments. P, Q, R, T are producing

departmments and S is a service department. The actual
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costs for a period are as follows :

Repairs

Rent
Depreciation
Supervision
Insurance

Lighting

Employer’s Liability of Employees’

Insurance

The following data

4385

¥ 2,000
¥ 2,500
21,200
T 4,000
¥ 1,500

T 1,800

T 600

is available in respect of five

departments :

P Q R T 5
Dept. Dept. Dept. Dept.  Dept

Area sq. ft 140 120 110 A 40
No. of workers 25 20 10 10 5
Total wages T 10,000 8000 5000 5000 2,000
Value of plant ¥ 20,000 18000 16,000 10,000 6,600
Value of stock ¥ 15000 10000 S000 2000 —

Apportion the costs to various departments on equitable

basis.

P.T.O.



( 6 4385
(%) sfaftem w93 +1 wRwfog wifsw o+ Fo
| T 2

(@) w1 fa. & dofw fauym &1 p, Q R T 3WEA faum
T AR s Fm fawm ¥ uw oafy & o amatrw

T T TN E

f{rma Z 2.000
ERE| Z 2,500
b RER] 4 3,260
LRCEL Z 4,000
E1L T 1.500
TRR AT T 1.800

wHARE ® ww ® fag

e =1 ofaw 7 600



(7 ) 4385
de fawm & fau frefEfae afed suesy
€

Tl OHE ATHESE 40 1200 110 0 4
FER K G 25 2 10 10 5

FA HAGH T 10000 8000 5000 5000 2,000
TIF W ORI T 20000 18000 16000 10000 6,000

Wi FOYET T 15000 10000 5000 2000 -

PJ

o=y faumt o wifizs s uR W aTdl F1 99EE
FHifSai

A product passes through three processes, viz Process 1.
Process 11 and Process [II. The normal wastage of each process
is @

Process | 3%, Process [1--6%. Process [11- -10%. The wastage

of Process | is sold @& 25 paisa per unit, that of Process il

is sold ‘@ 50 paisa per unit, and that of Process il is sold
P.T.O.
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@ T 1 per unit. 1500 units of raw material were introduced

in Process | @ T 1 per unit. The other expenses are :

Process I  Process Il Process {Ii

7 ? ?
Material consumed 1,500 2250 750
Direct labour 7.500 12,000 9,750
Manufacturing Exp. 1,575 1425 3,015

The output of each process has been as follows :

Process | 14,250
Process [] 13,650

Process 111 12,012

. You are required to prepare process cost accounts, Abnormal

wastage and Abnormal effectives accounts.
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The X Co. has secured a contract for the construction of a
building at a price of ¥ 55,00,000. Work commenced on st
January, 2008 and the contract is due to be completed in
18 months from the date of «ommencement of work. By 30th
Tune 2005. most of the preliminary excavation and piling have
been completed. The expenditure relating to the contract upto

30th June 2008 is as under -

4
Value of plant sent to the sire 25,00.000
Stores sent from depot 6400
Fuel oil used 59.400
Wages paid 2.73.200
Wages accrued 10,400
Direct expenses 44,000
Miscellaneous expénses 6,04.000

Materials purchased 3,30.400
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The work certified under the contract upto 30th June, 2008
was T 16,00,000. The cost of work LmCEI‘-tiﬁed to datc was
estimated at ¥ 1.40.000. Payment on work certified is subject

to 15% retention and all money due has been received.

On 30th June, 2008, when the company closes its accounts,
the valuation put upon the plant was T 21.20,000 and materials

on site amounted to T 35,000.

You are required to prepare the contract account and also show
the amount of profit you consider could fairly taken to profit

and loss uaccount.

Also prepare Contractee’s account and show extracts from Balance

Sheet,
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(a)  Explain the causes of difference between profits shown
by Financial Accounts and. Profits shown by Cost

.

Accounts.

() X owns a fleet of taxis and the following information

is available from his records :

Total life of a taxi is about 2,00,000 kms. A taxi cuns
in all, 3,000 km. in & month of which 30% it runs empty.

Peirol consumption is one litre for 10 km @ ¥ 49

P.T.O.
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Oif and other expenses are ¥ 5 per 100 kms. The other

details are
Number of taxis 10
4
Cost of each taxi 20.000
Salary of a Manager 600 p.m.
Salary of an Accountuant 500 p.m.
Salary of a cleaner 200 p.m.
Salary of a mechanic 300 p.m.
Garage rem 600 p.m.
Insurance premium 5% per annum
Annual tax 600 per toxi
Driver salary 200 p.m. per raxi
Annual repair 1,000 per taxi

Calculate cost of running a taxi per km.
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Discuss meaning and significance of Break-Even-Point

and Margin of Safety in relation to Marginal Costing.

ABC Ltd. finds that it costs ¥ 625 to make a component
*X'. The same is available in the market at ¥ 575 each

with an assurance of continued supply.
The breakdown of <osts is as under -
Materials ¥ 275 each
Labour T 175 each
Other variable costs 2 50 ecach

Fixed costs T 125 each

Total T 625 each

(H Should ABC Ltd. make or buy the component ?

(i) -What would be vour decision if the supplier offers

the component at ¥ 485 each 7

What do you mean by Labour Turnover ? Discuss various

methods followed to calculate Labour Turnover.
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The following data are available in a manufacturing company

for a yearly period :
Fixed FExpenses

Wages and Salaries
Rent and Rates
Depreciation

Misc. Expenses
Semi-variable Expenses
{at 30% of capacity)
Maintenance and Repairs
Indirect Labour

Sales dept. Salaries
Administration Exp.
Vam‘qble Expenses

fat 50% of capacity
Materials

Labour

Other Expenses

T Lakhs
95
6.6
74

6.5

35
19
38

28

217
204

19

980
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Assume that the fixed expenses remain constant for all levels
of production; semi-variable expenses remain constant between
45% and 65% of capacity, increasing by 10% between 65%
and 80% capacity and by 20% between 80% and 100% of
capacity.

Prepare Flexible Budget for the year at 60%, 75% and 100%
of capacity.
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(a}  Differentiate between Fixed Budget and Flexible Budget.

(&)  Distinguish between normal and abnormal idle time. How

are these treated in Cost Accounts ?

(¢)  Treatment of Over-Absorption or Under-Absorption of

overheads in Cost Accounts.
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